A thermometer is taken from a room where the temperature is 25°C to the outdoors, where the temperature is —6°C'. After
one minute the thermometer reads 11°C.
(@) What will the reading on the thermometer be after 4 more minutes?

(b) When will the thermometer read —5°C'?
D minutes after it was taken to the outdoors.
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(@) What will the reading on the thermometer be after 4 more minutes?
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(b) When will the thermometer read —5°C?
[: minutes after it was taken to the outdoors.
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A species of rabbits has a growth rate of 0.625 / month. If a population of foxes inhabits the same forest and kills 25 rabbits

find the general solution describing the population of rabbits.

. Assume that one month = 30 days.
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